


















more shocking. Clearly, 26 Bes+ is the right Qg4 30 h3 Qd1 + 31 Kh2 Rbe8 32 NfS+ Kg6 

move, with at least a draw after 26 ... Kh6 

27 Bf4+ Kg7 28 Bes+. Black cannot try 

26 ... Kh7? because 27 Qf7+ Kh6 28 Ne3! 

threatening 29 Bf4+ gs 30 NfS# wins for 

White. And 26 ... Kh6 27 Bf 4+ gs is risky, 

although 28 Qe6+ Kh7! ( 28 ... KhS? 29 Ne3! 

gf4 30 Qg4+ mating, or 28 ... Kg7? 29 Bes+ 

Kf8 30 Qf5+! Ke8 31 Qg6+ Kd7 32 Nd4! +-) 

29 Qf7+ Kh6 seems to hold the draw. 

Can White win with 26 Be5+ Kh6 27 Of3? 
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After much analysis, I'm stil I not sure. 

White's active pieces give him a lot of 

compensation for the double exchange, and it's 

not easy for Black to use his Rooks. Some 

possibilities: (A) 27 g5? 28 Qh3+ Kg6 

29 Qe6+ KhS 30 Qf7 + , mating. 

(8) 27 Qd7? 28 Ne3 Rbf8 29 Ng4+ KgS

30 Nf6 +-.(C) 27 Rf8? 1 28 Qh3+ Kg5 29 Ne3

Qc8 30 Qg3+ Kh5 31 h4! Qd8 (or 31 ... Kh6

Kh7 33 Ng4 +-) 32 Bb8 Qh4 33 Qe5+ , which

should win for White.Also if 29 ... Qe7 30 g3!?

Rh8 31 Qg4+ Kh6 32 Qf4+ gS 33 NfS+ Kh7

34 Qe4 Qf7 35 h4! Qg6 36 hg and White's

attack should win. (D) 27 , Qh4 ! to meet

28 Bf6 with 27 ... gS,and 28 g3 with 28 .. QhS

33 Qe4 Res! 34 QeS Qd8 35 Qe6+ Qf6 36 Ne 7 + 

Kg7 37 NfS+ Kg6, drawing. 

2 6  Res 

2 7  Bes+ 

Now Black breaks White's attack. However, 

27 Ng4 QgS! 28 Bes+ Res 29 NeS Rd8! won't 

save White, either. 

2 7  Res 

2 8  Qe5+ Kf7 

2 9  NdS Rc8 

3 0  Qf4+ Kg8 

3 1  h4 Rc6 

3 2  Qe4 Rd6 

3 3  g3 

If 33 Nb4 !? Black should avoid the trap 33 ... Qb6+ 

34 Kh2 Qb4 35 Qe8+ Kg7 36 Qe7+ Kh6 37 Qg5+, 

which only draws, and go for the throat with 

33 ... Rd1 + 34 Kh2 Qd6+ 35 g3 Rd4. 

3 3  as 

3 4  Kf2 Qd7 

35  Kf3?! 

Allowing the exchange of Queens, after which 

Black's Queenside pawns can advance. However, 

35 Kg2 won't hold out long after 35 ... Qe6 36 Qf3 

Qe5, invading the a-file with Rd6-e6. 

3 5  QfS+ 

3 6  Qf5 gfS 

37 Ke3 Kf7 

After 37 Ne7+ Ke7 38 NfS, a simple way to win 

is 38 ... Rf6 39 Ke4 Rf5 40 KfS a4 41 Ke4 b3 

42 ab a3, queening. 

The game concluded: 38 Kd4 Rg6 39 cs 

Rg4+1 40 Ke5 a4 41 Nb4 Rb4 42 Kd6 Rg4 43 c6 

29 Qe3+ gs. An example: 28 Qe3+ gs 29 Nd4 Rg3 44 c7 Rc3 and White resigned, 0-1. 
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